MS734ELBK Microphone Stand

Production from Jan. 2025

No. Model No. Description
5 S 4-4 5[1 1 |VMs754E1B |Leg (Black)
@ %. 1-1 [JBMS2 Nylon Bushing w/ Bolt & Nut
‘ o @j 1-2 |756-RF Rubber Tip
2 BSMS4 Base Assembly
2-1 |450-NBS Nylon Bushing w/ Metal Tip
2-2 |IN8 Insert Nut
2-3 [450-NNB Round Screw (Large BK, M8x13mm)
3 L816SWW Bolt (M8x16), Washers & Spring Washers set
3-1 |L816C Screw (M8x16mm)
4 MS754EL2BN Vertical Bar w/ Boom Tilter
4-1* |756HDSBN Torque Nut & Bolt
4-2 |455-NBS Nylon Bushing w/ Metal Tip
4-3 |IN6 Insert Nut
4-4 |205-NNB Round Screw (Black, M6x12mm)
4-5 |756-NB Nylon Bushing (Weight Side)
5 |MS734B1B Boom Pipe (Telescoping 3/8")
5-1 |756-WLB Counter Weight w/ Locking Nut
6 [205-LN Locking Nut (3/8")
7 |ADS8E Adapter (3/8"—5/8")
/ 8 |CCh Cable Clip (15.9mm, 3pc/set)
9 cc7 Cable Clip (22.2mm, 3pc/set)
4-1* Please note the difference in bolt lengths.
@_1_2 756-HDSB 756HDSBN

b0 = 060

45mm ‘ 40mm



MS734ELBK Microphone Stand

Production from Nov. 2021 to Dec. 2024
Substitutable

No. Model No. Model No. Description
1 |MS754E1B Leg (Black)
11 |IBMS2 Nylon Bushing w/ Bolt & Nut
1-2 |756-RF Rubber Tip
2 |BSMs4 Base Assembly
2-1 |450-NBS Nylon Bushing w/ Metal Tip
2-2 [IN8 Insert Nut
2-3 [450-NNB Round Screw (Large BK, M8x13mm)
3 L816SWW Bolt (M8x16), Washers & Spring Washers set
3-1 (L816C Screw (M8x16mm)
4 ?"D?;Z‘:Ehis ) |MSTS4EL2BN | Vertical Bar w/ Boom Tilter
4-1* |756-HDSB Torque Nut & Bolt
4-2 |455-NBS Nylon Bushing w/ Metal Tip
4-3 |IN6 Insert Nut
4-4 |205-NNB Round Screw (Black, M6x12mm)
45 |756-NB Nylon Bushing (Weight Side)
5 MS734B1B Boom Pipe (Telescoping 3/8")
5-1 |756-WLB Counter Weight w/ Locking Nut
6 |205-LN Locking Nut (3/8")
7 |ADS8E Adapter (3/8"—5/8")
8 |CcC5 Cable Clip (15.9mm, 3pc/set)
9 |ccT Cable Clip (22.2mm, 3pc/set)

4-1* Please note the difference in bolt lengths.

756-HDSB 756HDSBN

g
?—ssmé,a = 06



	MS734ELBK_2025.pdf
	MS734ELBK_Old.pdf

